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5

5-1
200 138,000 /m 350mm 302,000 /m
m
200mm 100,000 /m 350mm 310,000 /m
- m
m m
-2
( m
(mm) (m) () ( = )
20 16815929 6 9,88 2,2 9,873 13,80 138
20 - - - - 10,00 )
306 793 22,83 - 22,83 3020
38 - - - 31,00 0.97
-3
m
(mm) /m
20 10,00 98 0 13,80
2D 1030 1000 1420
30 1060 10a@0 1460
36 11,00 1.38 1100 420 1580
40 1160 1180 1600
4B 1200 1260 1600
20 2760 2680 31,00
2D 2860 27,860 3200
30 2960 2860 3300
306 31,00 0.97 30,20 400 340
40 3260 31,80 36,00
408 3430 33480 37,60
50 3630 35@0 3960
1 X = m = - 4,(20 0

2 X = m = +4200



-5 -5
11 9M8 24 B66 3480
12 880 25 9746 3478
2 13 93 12 1302 2298
14 306 15 3180 19289
15 1029 12 8128 2338
43900 91 1722 1,34@9
21 6 A8 30 2066 3658
1 22 8 B 8 23 B34 32@a
23 1456 16 2150 30B0
2988 70 3650 9998
31 7% 0 30 1558 3728
32 0 33 (B37 3383
33 0 24 (634 2493
34 3@8 39 4842 4382
35 5100 10 224 15212
36 4719 21 1340 2508
37 1420 14 2026 2858
35940 1,7252 & 20750Q
41 13812 35 7202 49038
42 1416 23 Y476 38@8
43 0 31 5328 3138
44 0 32 1678 324838
45 5216 36 5148 4138
46 2490 29 302 5482
5868 1,888,6 8 24768
1,6 6,2 2 5,229,1 @ 6,8 9,19
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6-2

H30 2942 B 2 8,250
H31 2652 38 5 9,484
H32 303,1 8 8 8,609
H33 520,1 13 82,756
H34 4127 % 1,7 8532
H35 5470 3 23 2610
H36 7030 b 3,0 8,625
H37 3947 8 34 9,383
H38 5446 6 3.9 8989
H39 4930 B 44 8,015
H40 3826 B 4.8 6,641
H41 6370 6 54 9,647
H42-1 4173 8 59 4955
H42-2 5437 2 64 8677
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Hi7~Hzo | 0
| H3o O/ 6g| zes
| H3t = ga| 2
| Haz i 72| 2560
H H33 B2|  2e4z
i Hi4 | 106] 2748
| H35 —/ 121 2869
H36 i 40|  a00s
1 H37 120 3124
H38 i 80 3214
| Hig —/ tis|  azas
H40 = Bo| 414
H41 L — | tha | asr7
H4s—1 |1 144  a724
H42-2 | I 08| asa0
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